





Since

$$\lim_{n \to 0} C_n = \frac{1}{(n-1)} \left[\frac{\partial^{n-1}B_1}{\partial x^{n-1}} \Big|_{x=y=0} + \frac{\partial^{n-1}B_1}{\partial x^{n-1}} \Big|_{x=y=0} \right]$$
we can write

$$B_1 + B_2 = \sum_{n=0}^{\infty} \frac{1}{n!!} \left(\frac{\beta^{(n)}}{\partial x^{n-1}} \right)_{x=y=0} \right]$$
we can write

$$B_2 + B_2 = \sum_{n=0}^{\infty} \frac{1}{n!!} \left(\frac{\beta^{(n)}}{\partial x^{n}} + B_1^{(n)} \right)_{(x+iy)}^n$$
where

$$11/21/01 \qquad \text{USPAS Lecture 2} \qquad 13$$

$$H^{(0)} = B_0; \quad B^{(0)} = B_0; \\ B^{(1)} = B^n - \frac{\partial B_1}{\partial x} \Big|_{x=y=0} = B^{(1)} = B^n - \frac{\partial B_1}{\partial x^{n-1}} \Big|_{x=y=0}$$

$$B^{(2)} = B^n - \frac{\partial^2 B_2}{\partial x^{n-1}} \Big|_{x=y=0}; \quad B^{(2)} = B^n - \frac{\partial^2 B_2}{\partial x^{n-1}} \Big|_{x=y=0}$$

$$B^{(2)} = B^n - \frac{\partial^2 B_2}{\partial x^{n-1}} \Big|_{x=y=0}; \quad B^{(2)} = B^n - \frac{\partial^2 B_2}{\partial x^{n-1}} \Big|_{x=y=0}$$

$$B^{(2)} = B^n - \frac{\partial^2 B_2}{\partial x^{n-1}} \Big|_{x=y=0}; \quad B^{(2)} = B^n - \frac{\partial^2 B_2}{\partial x^{n-1}} \Big|_{x=y=0}$$

$$B^{(2)} = B^n - \frac{\partial^2 B_2}{\partial x^{n-1}} \Big|_{x=y=0}; \quad B^{(2)} = B^n - \frac{\partial^2 B_2}{\partial x^{n-1}} \Big|_{x=y=0}$$

$$B^{(2)} = B^n - \frac{\partial^2 B_2}{\partial x^{n-1}} \Big|_{x=y=0}; \quad B^{(2)} = B^n - \frac{\partial^2 B_2}{\partial x^{n-1}} \Big|_{x=y=0}$$

$$B^{(2)} = B^n - \frac{\partial^2 B_2}{\partial x^{n-1}} \Big|_{x=y=0}; \quad B^{(2)} = B^n - \frac{\partial^2 B_2}{\partial x^{n-1}} \Big|_{x=y=0}; \quad B^{(2)} = B^n - \frac{\partial^2 B_2}{\partial x^{n-1}} \Big|_{x=y=0}; \quad B^{(2)} = B^n - \frac{\partial^2 B_2}{\partial x^{n-1}} \Big|_{x=y=0}; \quad B^{(2)} = B^n - \frac{\partial^2 B_2}{\partial x^{n-1}} \Big|_{x=y=0}; \quad B^{(2)} = B^n - \frac{\partial^2 B_2}{\partial x^{n-1}} \Big|_{x=y=0}; \quad B^{(2)} = B^n - \frac{\partial^2 B_2}{\partial x^{n-1}} \Big|_{x=y=0}; \quad B^{(2)} = B^n - \frac{\partial^2 B_2}{\partial x^{n-1}} \Big|_{x=y=0}; \quad B^{(2)} = B^n - \frac{\partial^2 B_2}{\partial x^{n-1}} \Big|_{x=y=0}; \quad B^{(2)} = B^n - \frac{\partial^2 B_2}{\partial x^{n-1}} \Big|_{x=y=0}; \quad B^{(2)} = B^n - \frac{\partial^2 B_2}{\partial x^{n-1}} \Big|_{x=y=0}; \quad B^{(2)} = B^n - \frac{\partial^2 B_2}{\partial x^{n-1}} \Big|_{x=y=0}; \quad B^{(2)} = B^n - \frac{\partial^2 B_2}{\partial x^{n-1}} \Big|_{x=y=0}; \quad B^{(2)} = B^n - \frac{\partial^2 B_2}{\partial x^{n-1}} \Big|_{x=y=0}; \quad B^{(2)} = B^n - \frac{\partial^2 B_2}{\partial x^{n-1}} \Big|_{x=y=0}; \quad B^{(2)} = B^n - \frac{\partial^2 B_2}{\partial x^{n-1}} \Big|_{x=y=0}; \quad B^n - \frac{\partial^2$$







Fremet-Serret relations:

$$\frac{d}{ds} = \frac{\beta}{\rho} \frac{ds}{ds} = \frac{\sigma}{b} + \frac{1}{\rho} \frac{d\delta}{ds} = -\sigma_{1}$$
Where stylic called the torsion.

$$\frac{d}{ds} = \frac{\beta}{\rho} \frac{ds}{ds} = \frac{\sigma}{ds} + \frac{1}{\rho} \frac{d\delta}{ds} = 2\pi$$
Take the space curve to be the reference trajectory, and write the trajectory equations using the Fremet-Serret co-ordinate system:

$$\frac{\mu}{\sigma} = \frac{1}{\rho_{1}} + \delta^{2} = \frac{\pi}{\rho_{1}} + x^{2} +$$

$$\frac{df}{dt} = \frac{df}{ds} s = f^{3}$$
and introduce *f*=the path length of the particle along the orbit
$$\frac{df}{rd} = \frac{df}{ds} s = f^{3}$$
and introduce *f*=the path length of the particle along the orbit
$$\frac{df}{rd} = \frac{df}{ds} s = f^{3}$$

$$\frac{df}{rd} = \frac{df}{rds} s = f^{3}$$

$$\frac{df}{rds} = \frac{df}{r} s = f^{3}$$

$$\frac{df}{r} s = f^{3}$$

$$\frac{df}{rds} = \frac{df}{r} s = f^{3}$$

$$\frac{df}{r} s = f^{3}$$

$$\frac{$$

$$s = \frac{v}{\sqrt{\left(1 + \frac{x}{\rho}\right)^2 + x'^2 + y'^2}} \text{ and } l' = \frac{v}{s} = \sqrt{\left(1 + \frac{x}{\rho}\right)^2 + x'^2 + y'^2}$$
Trajectory equations in the paraxial approximation:
"paraxial" motion=> the derivatives x'^2 , $y'^2 <<1$ so
 $l' \approx 1 + \frac{x}{\rho}$ and we neglect $x'\frac{l''}{l'}$ and $y'\frac{l''}{l'}$ terms in the trajectory
equations
(These neglected terms are called "kinematic terms")
 $x(s) \approx x_{\max} \cos\left\{\frac{s}{\beta}\right\}$
Typical values of
 $x' = \frac{dx}{ds} \approx \frac{x_{\max}}{\beta} \approx \frac{10 \text{ mm}}{10 \text{ m}} \approx 10^{-3}$
11/21/01 USPAS Lecture 2 37
11/21/01 USPAS Lecture 2 37